
Xen-Tabanyol

a
=dic + ()

ascn =

10(1)
Print (d(33) <-

n knrozen

#ohGRem
sen

hi kezz- [0,..., m -1)

Monnusno - 250genet

#



Separate Chaining

piePPPeres, res
fin( Kez)

put (ry, value)



Openspalata
2 =n/m

1) Myct h begincens goai

cyz =>

+ (f.n)) =0(1+1)

T(put) =0(1 +t)

Put

2) =n/m n ++

m =1 n1 =1

u

11111110(n)
-
n +h 2h

m=1m
=

n



OPen Addressing

⑮EOD
key, weare

Moronto brepig Kygs he gansto.

But(k,v)
i =Hrsh(k)

while Keys [ifNone;

if key5[is=m
valueCi] =W

return

1(51
i ++

key5(i) =1
\(ue5(i) =2



find (K)
i =nash(k)
While key isNone
if (1359,7= =k:

return values
i +T

rituth Notfound

dd(e +1)

↓
⑭D
ygenus sizing hyxmo

henpocio keyi(i): none

Velner 9i):Now

kez5(i) =a

Valne5Si] = "deleted 11

↑
ocobol

3notime.



true P
Somenue:D faise 1 -p

boupoc:chonors posted a pegrum

myagentsgo hepton true

8- 60: E(X] =P.1 +(1 -p)(1
+E(X))

PE(x] =1

E(X] =1/p.

p =1-2.

6 open addressing
TI) =0(t +1/11-a))
T(su+) =0(11.1/(1 - c))

npumeph

Depeanovogue.
22t m -2m



Nocipose one Xen Pyunzmi

agen: nir) We sebua
Ath(e 1.. . h(lt)

h(X) =xym
- Yopono han her?

10, 15, 200, 42

90,m, 2m, 3m.... 3

You depanotoe Cemencite

hv(f)
↑
cemercato dem

Byunyu.
Coupon coswine as S.



heA
h:kezi-> 20,...,h-13

/

90,..., p=13

upumep

A=9hu,0/0C(1, ..., p-13,
bt(0,..., p - 13]

ha,c(k) =((0-k +8)yp]ym.

&f H- ynkep canonse

VR,eckessPCh(k) =h(elJZ .
k+1

h=H



Promorphem SeparateChaining.
knooz K

316:ESe(2n(n))) =0c
scrn 12 Xufi6 X.T.

E
-

[em(2n(m))]-)2
unu

0-6:

Eeen(Lacus 7943)] -<

ESee(Lass(943)] =1 [h(e) =h(k)] <
ItHashTable
e=k

= (n -1).E =C
↑
kon-he

-n-586 H.T. D



Keys 49,..., p-13
H =Shu,0/0C91, ..., p-13,

bt(0,..., p - 13]

ha,c(k) =((0-k +8)yp]ym.
V(,ecke35 PCh(k) =h(s)Jxm
k+1

h=H

O-t. Yatephantom
MYCTK, C-gb. Rosa. unfor

x =(Gk +b)i.p
y =(n1+1)u.p

HoBarogemue:Xy.
Mycyx=

y.

Togu axe-6 =02+8 mool
a (n -1) =0 wdp. => k=l



MyosRue Purc

(a,b)-(X,y)
x ty

(X,y) - (a,b)
x =y

x =(Gk +b)i.p
y =(n1+1)u.p

x - y =a(k - 1) modp

a=(x- y). (k =1)* modp
8 =X -ahnodp

(a,b)<-(x,y)



(9,8)-forpana onyreano

#
(X,2) Bopuan anyzan

PCh(n) =h(1)] =PCh(n) =n) =x +f(0,..p - 1)
y<w(0,..,p-131X)

h(k)=x "A.m
n(1) =3x.m

& abonie X-punc.

P [3.ym =x.m)*
y=X

E plml
-

1



=-1

= 1/m 13.

Xecumpolenne Ctpon

OCTpolo Ancopatial

S: So... Seen

hath(s)=Soplen-is, plea-c+
>... Seen-1.pO

an
·....(en-

P-henooPoe PURC. ECNO



can boispoin cryzon
and hones-tohoney.

Harogame: p gocious Genome,

↑ har(5)=hexh(t) =

=) s =t

6 penonain hain(s) 1.1.
/

her- as

Bonowed Monet

S =t => nesh(5) =hin't) w.d
St => Chopee bco

the in (i) nesh(t) MM.



hath(s)=Soplen-is, plea-c+
>... Seen -1.p)

theBritogene
-

nosh(Sc) =P.hoch (5) +c.p0

MyctS =
So... Sn-1

mychh hi =mosh(S... Si-,)
smmumm no... n

no =0
for i=0..h - 1

hi+1 =(Phi +Si)X



hosh(se. -Sr) =?
hr+1 =nexh(s0..5r)

*
he=hoxh(80 - - 81 -1)

Themanageme
ash(Se. -Sr) =haih/S0- Sr)

-

- hoth(s.... Se -). pr-(e
- 1)

=hr - he.ph+1
-c

Demonie Chip, itsp...ph
Toe upeghoychium

DOW5[0) =1

for i =1 -2
Ron5(i)

:P. Rows(i+]X.N



-
,I
er x y

Se rESX
-. Sy

=( 0()

Nonpurmep Z pymnylo 30

o(n(y n)

⑭N
Be
you
- K

#
ev xy

?

Se.. Sr ? Sx
- Sy



( =(cp(Se -
.Sr,SX..(y)

K=Bun. hones.

C Keonbeposthat Konyate
xemh?

!76 So-.Sn-1

SitCommon, 50

moth(30-sn+) <Chy1. Genuine

pobnomepro s
o _1M-1.

P [Chash(5) =neinct)] //M.
S, t
~ Chy).
CTO



&b: horn (5) =ES;p(en-1-i-

- monum lay P

Myotsn+gae ouns. aoun, St.

horn(5) =hesh(t) =>

=> hosh(5)-hoch(t) =0 mal
-

FEGpi - nonners. Lag p

nesh(s) -hogh (+) =0 moo

#) p-kopen her. Maronema

f.

Myct P-Bolspono cayz. 8 [0.. M-1]

P(propert) =esf
P

EPCS nonnegutu ct s
51, (t)=
-1



&emmo:Homes Rosiny Moroneme of

was to me bones ten des

Poshome
-

n= 1055. M =1018+3

PaRonnuzun].]"/M.

perfect Morning.

X..... Xn

U.F. Xi-i

X.-> value: =ohen (i)

O(n) nomsinCony his Goiuzeenyn

xom-topnugly popatologyhe se 011).



0-- 109

01:1 +[Mab("]

noth ("n6")- 2/5


